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(  C )3.How many more squares must be shaded so that % of

the figure below is shaded? (A)12 (B)13 (O)14 (D)15
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(D )9.Place with two triangular plates as shown on the right. Find the angle between
the two sides. (A)125° (B)140° (C)135° (D)150°
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(B )15.The table shows Ariel’s expenditure in a week.

Expenditure | Entertainment | Stationery | Transport | Food
Amount ($) 14 4 10 ?

If Ariel spent % of his money on entertainment and transport, how much did

she spend on food? (A) $40 (B) $44 (C) $48 (D) $52
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(D )21.The figure is made up of (4H )4 identical right triangle. The perimeter (/&
+)of each right triangle is 12 cm. If the perimeter of the figure is 24 cm, what
is the short side of each right triangle? (A)5cm (B)4cm (C)6¢cm (D)3 cm
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